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(—10)2 — (-3) = 2D =

(—10)* + (—8) = (—9)+ 10 =

2= (-8) = (-2)+2=

10° +8 = 5+ (—4) =

2’ +(-9) = 4 —(-5)=

(-8 —1= (—8)° +(-10) =

70— (1) = 10> + (=7) =

(-7)—3= 7 +(-1) =

(4" ~7= #-(8)=

(—10)2 + 1= (-3)+6=
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10D Ly T (2) _ 1= (=
(-10) (%3= 700 ~ 100 2 b=
(—10)* + (—8) = 92 (—9)+ 10 =1
2 —(-8)=9 (-2)+2=0
10°+8=9 5+(—4)=1
22 +(=9) = (-5) 42— (-5) =21
63
—2 _
(B —1=(2) (=8)2 + (~10) = 54
. 8 1
T =(Dh=z=17 102 +(=7) = 93
(=7)—3 = (-10) 7*+(-1)=48
. 111 15
(A =T= (7)) = (65 £ —(-8)=24
101 1
—10\2) - 1
C1 7+ 1= 700 ~ Moo (=3)+6=3
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